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1. Please calculate =+==7? (A) = B) — C) — D) —

) ) 2+7 ()9 ()14 ()12 ()14
1 7 2 9
HE 715 14 1

) 2. Ted got math record 60 into the base, first exam he got 80 and test record

+10, second exam he got —4, third exam he got 72. Four exams the

average is 62, the fourth score should be recorded as ?

(A) +3 (B) -3 (C) -4 (D) -8

 F5E  RICOVBISERHEL 60 DREZE » F—2Z 80 D5CH+10 ° BKREC

-4 BE=RZ 727 WRYHIDER 62 1 RISIURANERESCRD

62x4—80—(60—4x2)—72=44+ (60—44)+2=8" "." &Ll 60 DMK » FEECAR—8

) 3. Which of following number is the reciprocal of —2% ?

3 2 3 1
A)-22 (B) 32 (©) Yy (D) -3-3)

B TIE—BR-25 EET 250 BB

) 4. B x=2 F NIIB—BSEZT\EVEE <
(A) 7x—6=5x—10 (B) 5(x—2)+7=8(x+2)—6

© §x+1=5x (D) 2005(x—2)+7=1999(x—2)+2x+3
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BT -

( A

BT -

( C

BT -

( C

BT -

(A) 7x2—6+#5%x2-10

(B) 5(2—2)+7+8(2+2)—6

(© §x2+l¢5><2

(D) 2005(2—2)+7=1999(2—2)+2x2+3 » .". 3&(D)

) 5. 1|_/,'F'é."ﬁ2x—2(3y_4x+1)+_4x+ y—3:

?

2

8 3 13 8,5 13

A) X——y—— B) SX-2y-

8 3 5 8, 5 5

C) -x——y—— D) 3X=2Yy-¢

@) Sx-5y—¢ ®) 3% 276
12:\:_12}._16:\._4__12:\'—3}'—9_16:\‘_9}‘_13_§-\._§1'_E
6 6 6 R 6 320 6

) 6. iR B—EFERT 2B L » RTREXTE—RNZEESS - ity
FAZERE 16 BENIR » BOGE 10 BEIIR @ RINKEEBRXTHE—
IREVZETERS - 38R  EFRECSHNIEPMLERNEBESD <
(A) 4 (B) 8 (C) -4 (D) -8

2—16+10= —4 » HEE(C)

) 7. BERARERZNRABEIHIDH i
RNE | @X | =3B ¥R | i

08

B

NSHABOLBNEE » HPH [ 4

—1 | +3 | W | +4 | -3

BRHWET - ERENBEREH (2B
/80D BigiEBNEARMO (A)74 (B)77 (C)80 (D)83
SREI D ELLBRBIRFER 0> .. —14+3+4-3=3 >
C. BB ER-3 .. HENBRER 80D
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( A

220}

( B

BT -

( C

BT -

( C

BT -

) 8. B—EARKXOSM#MERE 10° AR » AR EIRSRILOE
BRaEE <

BHE : 9.87x10°m: ZME : 8.7x10°8m : AHE : 7.8x10'm

(A) &R (B) BRA (C) B<& (D) =f@&ad
: B3 :0.987x10°m : SHE : 87x10°m : AME : 780%x10°m

) 9. 52 iREME - IR E T A BARD 155K » BFEERT @ AIZR2
MHhIVEERE: (A)3 (B) 4 (C)5 (D) 6
TERIIOIVR (A EE)
=(1,52)~(2,26)(4,13)~(13,4)(26,2)~(52,1)"
BEANMERD 15K = (1,52) (2,26) "5 =>B4BSE

) 10. B @ TAAETE L - ASIEF52 ABCD LA B 2 y
BEI - IS 90°%% » D BERIEIBHALE ASHEcal
\ \
=Yk \ e
a1z FAEN W iy

D [eERERAR C 'R A
@ [R D B5AE (4,5) 8 90°%% » D BHARER (6, —-3)

) 11. ER=5h * BEFKBUHBA0A 90000 Tt » BERXFHFHKE _FFHX
{5 » —FFKN=B2/) BFH KN _E  BIHER ' HERAXFEH
R KBZDIT ®
(A) 20000 (B) 30000 (C) 40000 (D) 50000

Ag:"F=2:1>"_F:/)FE=2:3

- X “F:\FH=4:2:3> 90000><§=40000 TG
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( B

BT -

( D

BT -

( B

BEMT + IRT\

) 12. [T {BER—SKREFRMLABI KR -
BRFZEBRE) 2 DERRFEITE - PTLA
AKX 2 DEEL R RISHK - BOBARZKER

SRR GBS - SR oéf7ﬁ£§'
)

KBRS HOAT 7

(A) 500 (B) 540 (C) 560 (D) 580

) o 450 =17a+b _[a=—-6
RBRIRETA y=ax+b > B 076 47,57 5552

PTLAB#RBV/DIZT\AS y=—6x+552 °

1 x=2 KA y=—6x+552 = —6x2+552=540
B EBE)RIFRBABKER 540 N F

) 13. SEEBEMEEBHFIR » KASEK 120 JT° )\EZKEE 70 7T° BER
(BED 20 ALLE (8)) RIRREF] 75 3T - EXN—BER » BAA 5
A BREANEZEAULE (8) EBRBEALLEXE <
(A) 7 (B) 8 (C)9 (D) 10

2B x A 0 KBRS 5x120+70x = (5%1204+15%70)%0.75

= 600+70x = 1237.5 = 70x 2 637.5=x=9.1 "

PARLSZ 10 ADA EBREELEBNIE

285x289+4
287

) 14. 518 1=2 (A)285 (B)286 (C)287 (D) 288

oo (287-2)x(287+2)+4 287" -4+4

-1=287-1=286
287 287

I\ =
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( B )15 THISUM@EER -

(A) /900 =30 (B) 3%

(C) V14400=120 (D) +/0.000324 =0.018

1 [37 37
BEAT : (B)ES \/%:\/;:T

( C )16 [EBEBE—EEZKRR aXROIESEERE

wr =
BEEES —ERMIOAR -BERSARM | aliiian
RIOERS » WB ()T » WSHEER ~ a a

ey i

ERFFRELQ » WB(O)MT > AIFEEINEREDERB AR EE
REFEG? (A)15 (B) 14 (C) 13 (D) 12

E

BT : SFWEIRE = J10° +8° =164 >
144 <164 < /169 * 12 <164 <13 » 164 =12....... » .. a=13

( A )17. {tRSJ48 - zﬁ(J§+5)+

J_
(A) —4-5J3 (B)-2-4J3 (C)-3++/3 (D)-5+23

L 2443
D BIN=4/3-6-10/3 + - 6-63+2+/3=-4-53

( B )18. EE#R ax—by=1 VBB BE_ - = - IRRE » B bx+ay=1 IBFAL
BEW—FRR *
(A) B—FR (B) £_5HR (C) B=&R (D) HEUXRE
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BRAT : ax—by=1 £ ﬂﬁ@ﬂﬂé&%(— (0 ——)7f< CBE—ZR -
1
". a<0° b>0 ' X bx+ay=1 E2mEHAZ 2, (3 0~ (0 g) ’

- RNEEE_ZR

( D )19. WEE > FTUWEF ABCD RU)—EE » BfY

E'g%c—m% , SSRRHEEEAM <

(A) (4 — m)x? — 2mx — 16 — 41
(B) (4 — m)x? + 2mx — 20T
(C) (4 —m)x? + 4mx — 20T
(D) (4 — m)x? — 4mx — 16 — 4m

BRAT B@EE:% xg(x+2) = 2x+4 » R x+2

RS ETE=(2x—4)(2x+4)—(x+2)°1 = 4x*—16—mX°—4TX—4T

= (4—m)X*—4mx—16—4m

( B )20 W8:'KBFABCDDP M-~ NDHEIZRAB - A R
CD Byh#s » ERTSHZ AMND 2A%ER ~ & 5 <
£75F » £75% MBCN DR - TWETH m | Y7
cEEBLR 0 =2:1"R":T=4:5> B S C

BIMP:PQ:QN="°
(Ay3:1:2 (B)4:2:3
(C)5:3:4 (D)4:3:2
BT BCB—HBEEQR.. B: Z4=MQ:QN=2:1"

@A : J=MP:PN=4:5>53MP=4r"PN=5r".".MN=0r"
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" MQ:QN=2:1".. MQ=6r'QN=3r’.. PQ=6r—4r=2r-

. MP:PQ:QN = 4:2:3

(A )21 [gUINPRB—E2N - 3BIRESE 2~ 4~ 5 HHEBLIRMBEVE > AEARREY

gD E1H EoH E3H HE48 Es5iF
1 2 4 8 16
3 3 5 9 17
5 6 6 10 )
7 7 7 11
o 10 12 12
11 11 ' '
17

(A) 26 (B) 27 (C) 28 (D) 29

BEMT : 24+8+16=26

( A )22, —BI5=/IB 50 f8 ' AREAFDIGEE » FTLAZECS 6 58 ®T
FEEREEF D ZEIBZEE 458 FTHIDROBG DT » BEAR
RE 30 A » BEAEHTEE a A b A > B atb= <
(A) 28 (B) 29 (C) 30 (D) 18
BT D S0BAEBE 125102550 50—6=44 :
Q@ 44BREFEE 1241122 44> 44—4=40 :
@ 40HRHAE1-2-4-5-8-10~20"40:
@ AEUE 40 BIREN » {B-RBER 50 BX 44 BIRE > FI24HE 8 AT 20 A :
& a+b=8+20=28
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( C )23 BERBEFHNIL 1911 MB0ETFH - HIU - KB 80 & FEITilE
80+1911=1991 F » SHEREFIT 2015 F * FE ML _1ESD <
(1) B—TR (IR) FHERIBORE—I
(2] IBEEHFRLE 4
(3] SA%&N0L 20
(4] BB3REA 25
(5] #ESEINEHEENLL ]
(6] RB—ETR > FEBEHEREIM (IR) BENI—IGTE
RAEM (R B—E={IENEF  E—EHZEIR (W) F
HESRIROURE NI - B TIRAMEMR (IR) OERREE !
(A)1715  (B)1615  (C)1515 (D) 1415
AT DFESRISREB I X =
(4x+20)x25+ [ 1=100x+2015 * 100x+500+[__]=100x+2015

500+ ]=2015 [ 1=1515

( A )24. 3B - BCEF B¥1TM:ER - =—A ABC E—1@
EBR=BF 'BCR8AQD 'ACRTAD ' EX
o EELL=/AF ADH IEREX 12 R0
XK HCHIRE -
(A5  (B)45AD (6D  (D)5.51D

BRHT : atb=c+12 * a+b+d=c+d+12° A
BCEF Ef&=B/8/ABC+12=8x7+2+12=40 > a5 b
BCxHC=40 * 8xHC=40 » HC=5 A7 i
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( B )25 #49BBEMRE—BUR B ABIERRA - #H5t 37 FERER
BRE PR IER B I0R AT 12 R - PEDVBEIDRET
RELRFRIER
(A) 4 (B)5 (€)6 (D)7

@i O WRPZLIE > PR RIUE > B3R RIPLEE

QURPZ2E > FI7TR :RAI 10K > A2 F - RIPAER
QURPPIR=>PFBR RPN > R21 R APAEE
@ UNRPPA4R > BILOR:RAZ8R > R20R - AIPAEE
© ARPZER > F20F - AI7TR > 19T AIPEE

—51R& (ZE257)

1. 7f 400 ARERED  BREARRREETE » B OHRERES - B8R 25 1
R 7% %Ps0 AR Al :

(1) B~ A= ABBRRERG = (10772)

(2) EPREREEF - AHREEEIHAR (1570)

BT - (1) FSRIERE - BRLL=8]KLE
BB : & : 3 = (400-25) : 400 : (400—25-50)
=375:400:325=15:16: 13
(2) RABERREEB x 2R

400 : x=15: 13> x=@
1040
<. 400- =190
3 3

: (1) 15=16=13:(2)?’A\R

0)
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3000

2. BXa-b-c dRIEXH - BV3000 = 54.77 - £+/3000 ¢ "

v/3000 + ¢ ~ /3000 — d II9RIEEH » Bla b~ c  dRIVERD

BRHT : 3000 = 22 x 3 x 5°
5a=2X3Xx5=30'Hp=2x3x5=30
V3000 = 54.77

55 = +55° = V3025 = /3000 + ¢ = ¢ = 25

54 = +/54% = 2916 = V3000 — d = d = 84
. a=30'b=30"c=25°4d=284
E:qg=30"b=30"c=25"d=84
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